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(Based on Memory)

1. How many meaningful English words can be formed
with the letters ASNC using all the letters but ‘each
letter only once in each word ? ST
(11 None (2) One - L6

i3) Two 4 Threc --
1%) More thar three

2. The positions of first and the fourth letters of the word :

(GROUND are interchanged, similarly, the positions

-

are interchanged. In the new arrangement thus |
formed, how many letters are there in the English |
alphabetical series between the alphabets which are at
the extreme ends ?
(1Y None (2) Two \
(3) Three (4) Four o
{5) More than four ' )
Directionis (3-4) : Study the jb!!owmg mfomatmn )
carefully and answer the questions which follow . | | -
Point A is 7 m towards the West of Point B, Point B -
is 3 m towards the North of Point C. Point D 18 4 m
towards West of Point C. $s
3. A person walks 3 m towards North from Point D and |
reaches Point E. How far and towards which dlrechon R
will he have to walk to reach PointA? T
(1) 3 m towards West | *(2)"7 m towards East
(3) 4 m towards South, " (4) 10 m towards West
(5) 4 m towards East o
4. Ifa person walks 3 m towards South from Point A and .|
reaches Point B 'which of the following two- pomﬁ
would fall inStraight line mcludmg F?

(A, C (2)B,D _ |
(3} B,C 4 C,D _ 1'1
{5) None of these '

Directions (5-7) : The followmg questlons are based -
upon the alphabetical series given below : s
BHFMFQATJDLNCSPOUKIVGR

5. If ‘QK’ is related to ‘FI’ and ‘SG’ is related to ‘CR” in
a cerfain way, to which of the following is. ‘MN
related to followmg the same pattern ¢

()FL () EC
@F L
(5)EF :

‘What will come in place of queshon mark(") in the

following series based. on the above alphabetical series”
BE HF-MT? LU

CoMIs S T@2)AL
)02 A . {4)FD (5) AN
of second and fifth letters and third and sixth letters | A ;

Ifm aceﬂamcode ‘FIND’ is coded as *MKL}" and

- ‘MUDS’. is ¢oded as “EOJC’ how will ‘JUST" he

~ coded in the same code language ?
(BDKEF © (2)DKIP
(3) TOCA - (4)TOPJ
(5)TOAC

» Among five friends, A, B, C, D and E each has «
» different height. I is taller than only E. A is taller than
" D but shorter than C. Two people are taller than A. B
. is notthe tallest Who amongst the ﬁve friends is the

second tallest 7
CMA - (B
- ®c . (4D (O)E

If cach of the alphabets of the word RUSHED is
arranged in alphabetical order from left to right and,

- then each vowel in the new word thus formed is
~ changed to the previous letter in the English

alphabetical series and each consonant is "changed to
the next letter in the Engllsh alphabetical series which
of the fhl]owmg will be third from the right ?

@b . _ (4)S )T
How many such pairs of letters are there in the word

-- CERTAIN .each of which has as many letters between

them in the word (in both forward and backward -

: dxrectxons) asthey have between them in the English

.~ alphabetica! order ? .
o '(I)None : () One
_.'(s)Mqre.thmhme_j_--




11,

12,

13.

14,

15.

¢

Directions (11-15) : In these questions, relationship
between different elements is shown in the statements.

The statements are followed by conclusions.

Give answer (1) if only Conclusion I, i§ true.

Give answer (2) if only Conclusion I1 is true.

Give answer (3) if either Conclusion 1 or I is true.
Give answer (4) if neither Conelusion I nor II is true.
Give answer (5) if both Conclusions I and I are true.

Statements : A2Z<Y;B<Z>P
Conclusions : '

. Y>P ILA2B
Statements: M<N=02C;X202D
Conclusions : i

LXz2M II. C<X,
Statements : R>S<T;P>8§; T<Z
Conclusions : ;

LZ<$ ILR>P
Statements : D>E=[2J<K
Congclusions :

I J<D I.J=D
Statements : P<Q<A,; T>Q>V
Conclusions : -

. P<T AN
Directions (16-20) : Study the following mjbmanon

to answer the given questions:

P,Q,R, S, T,V, W and X are seated in a straight’ line
facing North but notnecessarily in the same order. P./

sits fourth to the right of X. Either P or X sit at the

extreme ends of the line. Q and Viare mmediate |

neighbours of-each other but none of. them ‘is an

immediate neighbour of X and P. Only one person sits

between .V and S. Only two peaple sit between S and
T The seating arrangement is ‘suchthat W never sits at

any of the positions towards the left of QWis not an

immediate neighbour of P,
16. What is the position of R with respect to X
(1): Second to the left  (2) Immediate neighbour
(3) Second to right (4) Third to right
(5)None of these
17. Which of the foil owing . represents persons seated at
the two extreme ends of the line?
1)V, X - @PV
G)P,T _ (4) X Q
(5P H d
18. How many persons are seated between Q and X?
(1) One (2) TWO
(3) Three - (4)Five
(5) None A A
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19, Ris related to T and P. In the same way Q is related to-

- 20.

21.

22,

V and S. Which of the following would X be
related to following the same pattern ?

(H)Qand W (2)Rand T
G)WandT - (A Rand W
(5)Sand W

Who amongst the following sits.exactly in the middic
of the persons Who sit sixth from ,the right and

fifth from the left ?
(HW

@)X 4Q 5)
Directions (21-25) : Study the following imformatio
to answer the given questions .

In a certain code,

‘give more time instead’ is written as ‘ho ga yata”
“instead of more appeal’ is written as ‘ju ho li-ya".

3)

- “appeal to high court’ i§ writien as ‘zo fe ju ba’.

‘more time to decide’is Written as ‘do ba ho ta™:

‘What is the C(_)de for ‘decide’ ?

(1) do (2) ba
(3)ho (4) to
- (5).Cannot be determined
What does ‘1i’ stand for ?
(1) appeal (2) instead
(3) more (4) to (5)of

) Ly

4.

25

-

Which of the following may represent ‘think hig!
instead’?

(1) zo fe to (2)yaku fe
(3)muyaga (4) ke zo mu
(Syyafeli
‘What is the code for ‘give’
(1)ga {2) ho
(3) ya ()to”
(5) Either ho or to

Which of _thé following may represent ‘appeal morc {v
court’ ? .

(1) juha fe zo (2)juyahoba
(3) fe baliju (4) ba ju zo ho
(5) juyabado

Directions (26-32) : Study the following informatio:

* carefully and answer the given questions.

Eight friends are sitting around a .sq.uare table |
such.a way that four of them sit at four comers of (1.
square while four sit in the middle of each of the fou:
sides. All the eight friends face the centre of the table
A sits third to left of E. E sits at one of the corners ¢
the table. F and D are immediate neighbours of cic
other but none is an immediate neighbour of A. I di
not sits at any of the corners. G sits second to right |



0.

L1

34

. Who sits second to the left of E 7

. What is the position of B with respect to<D ?:

!8. Four of the following five are alike in a certain way

group?

(HG (2yD

(A (4 F (5 H

9. Who amongst the following sits third to right of C

(I F (Q)H

3G 4D (5)E

Who dmongst the following sits exactly between G
and H ?

(D (2)A

(3 F @HE (5)B

. 1T all the persons are made to sit in alphabetical order

32, What is the position of G with respect.to F ?

3. 10 all the symbolsiare dropped from the above |

- How many such numbers are there in the above

¢

H. Neither B nor C. sits at the middle of the sides of
the, table. B is not an immediate neighbour of H:

{hD
(HB

(2)F
4C (5)H
(1) Immediate right
{3) Third to the left
{5) Second to. the right

* (2) Second to the left -
(4) Third to the right

bascd upon the seating arrangement and so form a
group. Which is the one that does not belong to that

starting from A in clockwise direction, the positions
of how many will remain unchanged (excluding A) as
compared to the original seating positions ? :
(1) None (2) One
{4) Two (4) Three  (5) Four
(1) Immediate right
(3) Third to the left
(3) Immediate left .
Directions (33-37) : Studyithe following arrangement
carefilly and answerthe questions given below
SO8WL3U9%Q2VNK6CH@ESFABS&ZA*TM

(2) Second to the left
(4) Third tothe right

arrangement, which of the following will be tenth
from the right end of the above arrangement ?

()N (Q)E

(316 4 C (5)V

Fourof the following five are alike in a certain way
based on their positions in the above arrangement and
5@ 'Torm a group. Which is the one that does not belong
to that group ?
(1) WAZ

(3 L&S

(2)$M7

4 e+ (5) 8*A

arrangement, each. of which is immediately preceded

by asymbol and also immediately followed by a letter ? |

{1} None (2) One

36.

3.

.-(3) Two
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: (4) Three
{(5) More than three
What will come in place of the qucstlon mark,?

8W *A 3U &5 %Q 77

(1) 4F @) VN
(3)p4 42v
(5) None of these
Which of the following is twelfth to the left of the
twenty-fourth from the leﬂ end of the above
- arrangement ?
(DE -(2) K
Q@ (4) 6, GV

Directions. (38-40) : Each of the questions below
consists of a question and two statements numbered |

‘and Il given below

it. You have to decide Whether the data provided in

‘the statements afe sufficient to answer the question.

Read both thé statements and
Give-answer (1), if the data in Statement I alone are

- sufficient to answer the question, while the data in

Statement II alone are not sufficient to answer the

- question.

Give answer (2) if the data in Statement II alone are

. sufficient to answer the question, while the data in

 Statement 1 alone are not sufficient to answer the question.

| 38,

39.

Give answer (3) if the data either in Statement |
alone or in Statement I alonc are sufficient to answer
the question.

Give answer (4) if the data in both the Statements |
and 1 are not sufficient to answer the question.

Give answer (5) if the data in both the Statements 1
and II together are necessary to answer the question. -
Among five friends P, Q, R, § and T, sitting around a
circular table facing the centre, who sits to the,

- immediate right of T?

1. P sits third to the right of T. Qis notan immediate
neighbour of P.

IL:$ sits second to left of R. Q is an :immediate
 neighbour of § but not R. T is not an immediate
neighbour of §

Amongst four friends sitting in a straight line and

facing North, who is sitting at the extreme right end

of the line ?

~ 1.B sits at orle the ends of the lme A sits to the

40,

immediate right of B.

II. C and D are immediate neighbours of each other. _
Similarly A and Care also immedijate nelghbours of
each other.

Is A the smtero_fB?

1. Bis the son of K. K is the father of A.
I1.-L; the wife of K has two sons and only one daughter.
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Directions (41-50) : In m@’% ostions given below which one of the five cm.nverﬂgures on the right should
come after the proﬁ?em figures on the left; if the sequence were continued ?
Problem Figures . = : Answer anures

(1) @ 6 @ (5)

42, joAD pIDOA l -DDO (] O-D.'le 00 []'-' o) loo(aDoo)jmodamAios

(1) @Q 6 @ O

43, ._- ‘\.1 / — 1 .\ "7 I

(0 @) () @ (5)

44, |AVAV|AVAY[VAVA |AVAY |AVAY. AVVA| VAAY [9AVY |avavV [vAaTA
' ¥r -. - (1) 2 0 4) (3)

. NIZIN | \I N A\l NUS AN VERNERAN

S PN N P N P B Y

0, J=19, Jee 19N = T 1o P, -

/) C ) | ¢ £ C C J ) C

46. | ¥ | D
6 . el ey G- °3 | oS PR o oS ),
% (1) 2 @ (5)
c s|s (4 010 % A A ®RIA B |A 0la riA

47. _ -

a 12 0ls @ AlO .o a Ul 0O|. o0 olo C

. ' (1) @ @ @ )
# | p{pd|apr |P9|ap qa|pp | 9P |P q| ad

(1) ‘(2 3 @ (3

N ERENEERERE

M @ B O ®)

50.

M @ G @ &)
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52

53.

54.

55.

56.

57.

&

59.

60,
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Directions (51-55): What should come in place of
question mark (?) in the following questions ?

76.89 -63.05 - 11.11=7

(1) 2.63 (2)22.92
(3)3.73 o (4)2495
{5) None of these :
22x75=25="

(1) 44 (2) 66
(3)72 (4)58 -
(5) None of these

5832 ="

(1)26 : (2)28
(3) 16 4)18
(5) Nose of these

14,25 % 16.4 x 7 =5608.8

(1) 20 (2) 24
(3) 18 (4)22
(5) None of these

16% of 440 + 7% of 45="75.8

(1) 14 (2) 10
312 48

(5) None of these

Directions (56-60): What approximate value should
come in place of the question mark (?) in the fo!lowing
questions ?

(Note : You are not expected to calculate the exagt value.)

(27.001)* =2

(1) 730 (2)580
(3) 650 (4y600
(5) 820 :
37.0003% of 509.999=2 /

(1) 260 (2)230
(3) 110 (4) 190
(5) 140

2222242222 +222222 =1
(1).2467 . (2) 2983
(3) 2041 L (4)3421
(5) 3003 '
£69.999 -+ 20002x 15996 = ?

(1) 600 (2) 525
(3) 650 4) 775
(5) 700

40.003 x 19.998 +75.010 =2

(1) 775 (2) 7125
(3) 875 (4) 650
(5) 800

1

Directions (61-65) : What should come inplace of the
question mark (?) in the following number series ?

61.4 6 15 7 23625 1299.375

(1) 68.5 (525
i (3)46.5 " (4)355
(5) None of these ‘
62.3 4 1033 136 ?
(1) 903 . (2)822
(3) 685 ‘ (4) 548
(5) None of these
63. 7 88 152 201 ? 262
(1) 237 (2)226
(3)250 : (4)301
 (5) None of these
64, 888 444 2220 111555 ?
(1) 25.75 (2)27.25
(3)28.25 . (4)26.75
" (5)None of these -
65. 95 103 96 104 ? 105
' (1102 (2) 98
(3) 100 - (4)96
(5) None of these

66. What would be the approximate cost of laying a carpet
on a circular floor with radius equal to 9.8 feet, if the
cost per square foot of laying the carpet is Rs.40 7

(1) Rs.12,100/- (2) Rs.10,500/-
(3) Rs.14,000/- (4) Rs.13,200/-
(5) Cannot be determined

67. The simple interest accrued on an amount at the end of
six years @ 14.5 p.c.p.a. is Rs.13,050/-. What is the
amount 7

(1)Rs. 13,000~  (2)Rs. 16,500/-
~ (3)Rs. 14,500/- . (4)Rs. 15,000/
" (5) None of these

68. A 320 meters long train crosses a platform twice its
length in 80 seconds. What is the speed of the train in
kms/hour? °

S (1364 " (2)386
432 (4) Cannot be determined
(5) None of these '

69. If the cost of 6 erasers and 4 sharpeners is Rs. 21/,
what will be the cost of 24 erasers and 16 sharpengrs?

(1) Rs. 62/- (2) Rs. 84/-
(3). Rs 78/- (4) Cannot be determined
3) None of these

70. Inhow many different ways can the letters of the word
VISUAL be arranged ? :

O




1.

72,

73.

74.

7.

G

(1) 120 (2) 36
(3).360 (4720
(5) None of these -

A boat while travelling upstream covers a distance of
20 kms. in 5 hours, whereas while travelling down-
stream it covers the same distance in 4 hours. What is
the speed of the boat in still waters ?

(1) 3.5 kms/hr (2) 4.5 kms/hr

(3) 5.5 kms/hr (4) Cannot be determined
(5) None of these

What is the area of a square whosepenmeter is 88 cms ?

(1) 400 sq.cms
(3) 441 sq.cms
(5) None of these
Madhurima bought an article and sold it for 124%
percent of its cost price. What was the cost price of the
article, if Madhurima sold it for Rs. 20,460/~ ?

(1) Rs. 16,500/- (2) Rs. 18,000/-

(3) Rs. 17,000/~ (4) Rs. 15,500/~

(5) None of these :

The ages of Seema, Amala and Ruchi are in the ratio
of 7:10:4 respectively. If the sum of their ages is 42
years, what is Ruchi’s age ?

(2) 529 sq.cms
(4) 576 sq.cms

(1) 10 years (2) 20 years
(3) 6 years (4) 14 years
(5) None of these

A basket contams two red and three graen balls. If
three balls are drawn at random from the baﬂ:et what
is the probability that two are red and one is green ?

(8] —1~5 (2) T
3

OF g&)_ﬁ

(5) None of these

Directions (76-80): Each of the questions given below
consists of a question and two statements numbered |
and II given below.if. You have to decide whether the

data provided in/the statements is sufficient to answer
the qulestion. Read both the statemenas and

Give ‘angwer (1) if the data in statement I alone is
sufficienit to answer the question, while the data in
statement II alone is not sufficient to answer the question.
Give answer (2) if the data in statement II alone is
sufficient to answer the question, while the data in
statement I alone is not sufficient to answer the question.
Give answer (3) if the data in statement I alone or in
statement 11 alone is sufficient to answer the question.
Give answer (4) if the data in both the statements I
and II is not sufficient to answer the question.” -
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76.

77.

78.

79.

80.

Give answer (5) if the data in both the statements |
and II together is necessary to answer the question

What is the product of X and Y ?

L X+Y=23

I X-7=Y

What is the'rate of interest p.c.p.a. ?

I.  Simple interest accrued on an amount in two
years is half the amount.

II. A simple interest of T 2,430/ is obtained.on an
amount of Z 3,240/~ in three years.

In how many hours can A alone compléte the piece o
work ?

L. ‘B, who works twice as fast 48 Ajcan complete the
piece of work in 18 hours.

I. A and B together can'complete the piece of work
in 12 hours.

What will Moushrhi’s age be two years from now 7
1. Moushmi’s ptesent age is half Kirti’s present age.
1. Kirti, who 18 twice Moushmi’s present age, was | }
years old five years ago.

What is the perimeter of the rectangle ?

1.° The length and breadth of the rectangle are in the

- ratio'of 5 : 3 respectively.

1I. The area of‘a circle is 270 sq.mts, which is twice

\ ) the area of the rectangle.

Directions (81-85) : Study the following pie chart anc
table carefully to answer the question
'Percentage breakup of employees working in
various departments of an organization and the
number of females in them
Total Number of Employees = 600

Department Number of Females
Production 4 N
HR 47
IT ' 49

Marketing 29

Accounts 44




81.

82.

83.

84.

85.

86.

87.

¢

The number of Females working in the. Marketing

department is. what percent of the-total number of |
employees working in that department ? (rounded off | . '
88.

to the nearest integer)

(1) 6 (2)28

31 4)19 (5) 31

What is the respectiye ratio between the number
of Males working in' the Accounts. department
and the total number of employees in that
department ? '

(1) 17:39 (2) 15:37
(3)18:43 4) 13:41
(5) None of these

The number of Males working in the Productmn
department of the Organization forms approximately
what percent of the total number of employees
working in that department ?

(161 2)79

(3) 65 4)70 (5).86

The number of Females working in the IT department
forms what percent of the total number of employees

in the Organization from all departments together ? {

(rounded off to two digits after decimal)

(1) 8.17 (2)5.23
(3y9.31 4)7.73
(5) None of these

What is the respective ratio of the number of Males
working in the HR department to the flumber of
Females working in that department ? -

(1) 41:68 (2) 35:59
(3) 25:47 (4) 16:33
(5) None of these

Directions (86-90) : Study thefollowing table carefully to
answer the questions that follow"; '
Number of units Sold (in thousands) by five different
Companies over the years

~ - '

,Year= Company| 3\ B C D E
2007 34 | 28 | 29 | 32 | 26
0080 | 29 | 29 [ 29 | 25 | 25

2009 | 19 | 3.0 | 35 | 26 | 28
2010 30 | 33 | 31 | 31 | 36
2011 32 | 36 | 30 | 32 | 36

What is the total number of units sold by Company C
over all the years together ?

(1) 14200 (2) 10500

(3312300 (4) 15400

(5) None of these

What is the percent increase in the number of units sold

by Company E in the year 2009 from the previous year ? 7
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M) 19 @16
3 12 4)24
(5) None of these

The number of units sold by Company D in the year
2007 is what percent of the number of units sold by it
over all the years together ? (rounded off to two digits

after decimal) .

(1) 32.63 2192
(3) 35.15 (4)23.33
(5) None of these

What is the respective ratio of tmal number of units

sold by Company A and B togethet in the year 2008 to

those sold by them in the year 20117

(1)25:32 @) 23..31
(3)27:35 (429 : 34
- (5) None of these
What is the average nurhber of units sold by Company
E over all the years together ?
(1) 3260 (2) 2990
(3) 3020 - (43140
* (5) None of these -

92.

93.

Directions. (91-95): Smdy the following graph
carefully to answer the questions that follow .
Number of Girls and Boys studying in five

‘different colleges
1
B Gins
[ Boys
plal r!' sl 7
COLLEGES

91. Whatis the respective ratio of girls to boys in College T ?

(12:3 @3:5 -
(3)4:5 4)5:7
(5) None of these

Number of boys in college S forms approximately
what percent of number of boys in college Q ?

(1) 76 2)109

@) 118 )88  (5) 92
Number of girls from college R forms what percent of
the total rumber of students from that college ?

(135 (2) 46
3)27 (4y41
(5) None of these

| S
co

o




LY

94. What is the average number of boys from all the ‘ :
colleges together ? '

(1) 2000 -(2) 2800 . .‘,
(3) 2750 (4) 1950 5
(5) None of these '

95. What is the respective ratio of total number of students
from college S to the total number of students from
college P ? ' '
(1)3:4 (2)2:3
(3)3:5 (4)1:1'

(5) None of these

Directions (96-100): Stwdy rhe folimvmg table

carefully to answer the questions that follow:

Percentage of marks obtained by five
students in three subjects
Subject| Maths (100) | Science (150) |English (50)

IStudent . 4 e : ]

Avani 88 - 86, 66 !

Mithun 65 4 78

Kartik 72 68 . B4

Rumi | 91 I

Devang 89 84 . 80 .

96. What are the total marks obtamed by Avam inall f.he
subjects together ?

GENERAL K

101. Some banks have started issuing Biomettic ATM
Cards to its customers. To which typeof account
holders Biometric cards are generally mmd ? :
(A) llliterates . . i
(B) Sick and old persons -

(C) Inoperative accountholders :

(1) Only (A) (2) Only (B)
(3)Only (C) ' (4) Both (A) & (B)
(5) All (A), (B)&(C) ' -

102. Which of thefollowing is the currency of Japan ?
(1) Yenp | (2) Yuan .

(3) Pound (4) Dollar -
(5) Eurp _

103. Banks are supposed to strictly adhere to the RBIL
guidelines on credit card operations in India. In case the |
bank does not adhere, what action can be taken by RBI ? |
(A) Cancel the License of the Bank e
(B) Initiate suitable penal action :

- (C) Lew monétary penalties
(1) Only (A) "~ - (2) Only (B)* _
(3) Both (A) & (B) (4) Both (B) & (C).
(5) All (A), (B) & (C), B o

106.
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(1) 260 +(2) 242
(3) 228 (4) 250
(5) None of these
97. What are the average marks obtained by all
students in Maths ?
(1) 76 (2) 81
(3) 87 (4) 79
(5) None of these :
98. What is Rumi’s approximate overall percentdge i ¢
 exam?
(H78 (2) 85
37 (4) 73
(5) 88
99. What is the respective ratio of marks obtained !
* Devang in Science and English together to the
marks obtained by Mithunin the same subjects
(1) 77:61 (2) 84:73
(3) 83:75 (4)71:63
(5) None of these '
100. How many students have scored more than 75 pere
in more than one subject 7 -
(1) None (2) One
S (3) Two (4) Three
(5) Five

NOWLEDGE

104. IfPAN details are not prowded the TDS 1s deteete
" which of the following rates ?
(1) 10% (2) 20 %
(3) 10% for senior citizens & 20 % for others
(4) 10 % plus 10 % surcharge
(5) None of these
Through which of the methods GDP 1s calculaicd
(A) Expenditure approach
(B) Product approach
(C) Income approach
(1) Only(A)
(3) Only (A) & (B)
(5) Only (B) & (C)
Lending to Micro Finance Institutions by Bank
considered as finance to
(1) Non Priority Sector
(3) Commercial Sector
(5) None of the abote
107. Which of the following was the reasons owint
- which base rate was introduced ?
(A)*BPLR, system fell short of RBIs objectiv:
bringing transparency in lending rates.

105.

(2) Only (B)
(4) All(A), (B) & 1C)

(2) Priority Sector
(4) Agriculture Sector
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(B) Under BPLR system it was difficult for RBI to | (1) Only (A) (2) Only (B)
assess transmission of policy rates. ‘(3)All(A), (B) & (C)  (4) Only (A) & (C)

(C) BPLR system was not beneficial to the customers.
(1) Only (A) (2) Only (B)

(3) Only (A) & (B) (4) Only (B) & (C)

(5) All (A), (B) & (C)

Which of the fo]lowmg isfare various cmnponents:‘

channels of the monetary policy of the RBI ?

(A) Altering money supply

(B) Credit availability

(C) Influencing exchange rates

(1) Only (A) & (B). (2) Only (B) & (C) i

(3) Only (A) & (C) (4) Only (A)

(5) AlL(A), (B) & (C) _

Which of the following depository/depositories in |

India is/are handling dematerialized shares ?

(A) National Securities Depository Ltd. (NSDL) ,

(B) Central Depository Services Ltd. (CDSL) '

(C) Bombay Stock Exchange (BSE)

(1) Only (A) (2) Only (A) & (B)
(3) Only (C) (4) All (A), (B) & (C)
(5) Only (A) & (C)

Which of the following is/are called Key Polcy rates |

by the Reserve Bank of India ?
(A) Bank rate
(B) Repo Rate, Reverse repo rate e
(C)CRR, SLR I
(1) Only (A) '
{2) Only (B)
(3) Only (A) & (B) both !
(4) Only (C) !
(5) Only (B) & (C)

The loanamount ifcase/of a reverse martgage is
decided taking into acéount which of the following ?
(A) Value of House property

(B) Age of the borrower
{C) Prevalent interest rates
(1) Opig (A (2) Only (B)
(3)yOuly (€) - (4) All(A), (B) & (C)

(5) None of these

A person returning from abroad can retain foreign
Currency up to what period ?
(1) 60 days ' (2) 30 days
(3) 90 days (4) 180 days
{5) There is no such resriction

Which of the following is/are the security features of
the bank Notes used in India ? - ‘
(A) Security thread " (B) Micro lettering

(C) Intaglio Printing |

114.

115

| 116.
e following services to farmers

~ (A) Advice on cropping practices

. (B) Advice on protection of crop from pests

117,

| 118,

(5) Only (B) & (C)
Maximum FDI in Private Banks in India is allowed up
to the limit of

1)25% ©)51%
(3) 49% (4) 70%
(5) None of these

The Reserve Bank of India is considering providing

licenses to a limited number of new Bénks.

Which of the following is/are the objestive(s) of RBI

in the implementation of this policy ?

(A) Open maximum number of bank branches in India

(B) Ensure no customer has to travel more than a km
for his/her banking needs

(C) Promote financial inclusion

(1) Only (A) ~ - (2)Only(B)

(3) Only (€) (4) Only (A) & (B)
(5) Only (B) &(C)

Agfi clinics are envisaged to provide which of the

(C) Advice on marketing trends

(1) Only (A) (2) All (A), (B) & (C)
(3) Only (A) & (C) (4) Only (A) & (B)
(5) Only (C) .

Which one of the following Banks has decided to sell
retail bonds to raise Rs. 20,000 crores ?
(1) ICICI Bank (2) HDFC Bank
(3) SBI (4) Bank of India

- (5) None of these '
In which one of the following parts of India *Ponni
Samba’ and ‘Matta’ varieties of basmati are grown ”
(1) Northern " (2) Western
(3) Southern (4) N.E. States
(5) Central

119.
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(2) My Story

Which of the following books is written by V.5.
Naipaul ?

(1) A House for Mr. Biswas

-(3) My God Died Young

(4) Five Point Someone (5) None of these
In which one of the following Cities the Air Show

* Aero India 2011 was organised ?

(1) Chennai (2) Hyderabad
(3) Bangalore (4) Kochi

(5) None of these

O
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128.
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Who is Dr. K C Chakraborty ?
(1) Executive Director, RBI

" (2) Governor, RBI

(3) Chairman EXIM Bank

(4) Chairman, Punjab National Bank

(5) None of these

Which one of the foliowmg is the staple food for half
of the world ?
(1) Potato

(3) Maize

(5) Wheat
Mr. Prem Kumar Dhumal is Chief Mlmstcr of wh:ch
one of the following states ?

(1) Uttar Pradesh (2) Punjab
(3) Haryana (4) Uttrakhand
(5) Himachal Pradesh ]

Hosni Mubarak was the ex- Premdent of which of the
following countries 7
(1) UAE

(3) Beharin

(5) None of these
Which one of the following is thie first state in Iudla to
export 5000 tonnes of potato to Russia ?
(1) Haryana ()1 Karnataka
(3) West Bengal (4)U. P,

(5) Punjab

For which one of the fo]lowmg purposes, *W Tﬁ)
members trecently had a meetmg at :
Switzerland ?

(1) Issues related to food subs1dy
(2) Negotiations for a global trade dag{ rald
(3) Negotiations to abohah resm&vé trade pmchces
(4) Issues relatmg te port
(5) None of these g@a% 1N -'
Which one of the folhmﬂg will Setup core bankmg

' (2) Banans (
(4) Millet

(2) Egypt
(4) Yernan

infrastructure for rural ’nanks ? }
@) N@BA:RD
. (@ IBA

()RBI

(3) SIDBI
(5)Noue ofthose
At which one of the followmg plnoes 2011 Asla
Football Cup final match was organised ?

(1) Tehran (2) Qatar
(3) Riyed (49)Doha.
(5) None of these

Who heads the National Advxsory Ceuﬂcll ?
(1) Dr. Manmohan Singh -

(2) Dr. C Rangarajan

(3) Montek.Singh Ahluwalia

(4) Pranab Mukherjee
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(5) None of these

Mr. K M Chandrashekhar is holding which of ifi:
following posts in Govt. of India ?

(1) Revenue Secretary

(2) Cabinet Secretary

(3) Commerce Secretary

(4) Member, Planning Commission

(5) None of these

Which one of the following is the first state in th
country to give bicycles to all girl students in thestaic -
(1) Bihar (2) Tamil Nadu
(3) Karnataka (4) Kerald
(5) None of these
The letter “F’ denotes which' of the following in th
term IFRS.
(1) Formative (2) Formal
(3) Functional (4) Fiscal
(5) Financial
In Jaitapur,whieh one of the following power plants :
being set up ?
(1) Coal based (2) Hydro-electric
(3) Gas based (4) Nuclear based
15) None of these
In which one of the following States, Manyl

Bhagyam and Aishwarya oil fields are located ”

(1) Assam (2) Gujarat
(AP (4) Orissa
(5) Rajasthan
With which one of the following games in Christizno
Ronaldo associated? '
(1) Cricket (2) Golf
(3) Football (4) Badminton
- (5) None of these
Tn which one of the followmg State POSCO propos
to set up a steel plant?
(1) Andhra Pradesh (2) Jharkhand
- (3) Bihar (4) M.P.
(5) Orissa
Which one of the following countries has been inviic:
to join BRIC?
~ (1) Indonesia (2) Bangladesh
(3) South Africa (4) China

(5) None of these

In which one of the following African Countries h
Coal India been given permission to start exploratic
of coal mines?

(1) Mozambique (2) Uganda
(3) Ethopia (4) Nigeria
(5) None of these
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Which of the following terms in used in the game of
cricket?

(1) LBW (2) Love
(3) Half Nelson (4) Bull’s eye
{5) None of these

As per RBI guidelines, which one of the following can
be engaged as Buisiness correspondents?

{1) An individual operating common service centre
(2) An individual who is employed in a bank

(3) A SHG

(4) A Sarpanch

(5) None of these

Which book is written by Mahatma Gandhi?

(n Diécovery of India

(2) My Experiments with Truth

(3) My India

(4) Pakistan Cut to Size’

(5) The other side of Midnight

Who is Dr. Montek Singh Ahluwalia?
(1) Chairman, Planning Commission
(2) Dy. Chairman, Planning Commission
(3) Advisor to President of India
(4) Speaker Lok Sabha

(5) Vice President of India

Who is the Chairman of the Unique Idenuﬂnptlon
Authority of India?

(1) Shri Narayan Murthy (2) Mrs. Sudha Mut‘lhy
3) Sri Nandan Nilekani (4) Sri M. S. Gill
(5) None of these
Which of the following terms is used in the ﬁeld of
banking? : -

(1) Accounts (2) Entropy

1 149,
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(3) Plank’s Law
(5) Viscosity
Which. instrument is used for’ magmfymg minute
objects by a lens systems?

(4) Plasma

(1) Microscope -~ (2) Photometer

* (3) Spectrometer -~ (4) Mahometer
(5) None of these
Who amongst the follomng is a famous Cricket
player of international repute?
(1) Sania Mirza (2) Saina Nehwal
- {3) Gagan Narang " (4) VVS Laxman
(5) Anjali Bhagwat '
, Who amongst the foltzawmg was given the Best
Director Award in 56th Filmfare Award?
(1) Kajan Johar ~ - (2) David Dhawan
(3) Satish kaushik (4) Madhur Bhandarkar

* 1 (5)None of these
Mr. Susilo:Mambang Yudhoyono who was in India
recently is the Presidentof ......
(1ySri Lanka @) Fiji
- (3) Nepal (4) Indonesia
"¢/ 1 {8) None of these’

Who amongst the following won the Australian Open
2011 (Men's single)?
{1) Novak Djokoic (2) Bob Bryan
(3) Mike Bryan _ (4) Lednder Paes
(5) Noms of ese

150,

Krgstiv Marty is associated with the game of ......

(1) Badminton ~~ (2) Golf
(3) Lawn Tennis ~~ (4) Chess
(5) Cricket

GENERAL ENGLISH

Directions (151-165): Read the following passage
carefully and answer the questions given below it.

Certaint words/phrases are printed in bold to help you |

lacate thein while answering some of the questions.

Sustainability is a dynamic concept born out of the |

environmental debate of the last quarter of the

century. The basic prerequisite of sustainable |
development is the evolution of a development

process with a focus on the enhancement of the living
conditions of the population as a whole with emphasis
on raising the standard of living of the poor.
Sustainable Development is that which “meets the

needs of the present without compromising the ability-

of the future generations to meet their own needs”. A

primary goal of sustainable development is to achieve

11

a reasonsble ‘and equitebly distributed level of
economic . well-being that can be perpetuated

- continually for many human generations. It also

implies using renewable natural resources in 2 manner
that does not eliminate or degrade them, or otherwise

theirr usefulness for future generations. Sustainable

development also requires depleting non-renewable
energy-resources at a slow enough rate so as to ensure
the high probability of an orderly society transition to

- renewable energy sources.

Over the past 20 years, total population. in the

* industrialized countries has increased by 28%. These

countries are facing many problems such as
environmental degradation, over dependence on

" non-renewable sources of energy, declining standards




¢

ot‘lwmgetc Thmpxublemmmmutem
developing countries. These countries have formed
their economic systems, on western models ignoring
their indigenous requirements. A great deal of harm
has been done to the agriculture sector. The

percentage of cultivable land has been decreasing |

over the years due to increase’ in population and
- non-judicial use of resources. This has given rise to
man induced degradation. Forests are being destroyed
and concrete jungles are taking their place. It is within
the cities that most of the world’s resources are
consumed. Rapid ecological changes are taking place
in the fringes and rural areas surrounding cities.
History has led to vast inequalities, leaving almost
three-fourths -of the world’s people living in
less-developed countries and one-fifth below the
poverty line. This has been compomded further by

the long-term impact of past industrialisation;
exploitation and ‘environmental damage. Human

health in its broadest setise of physical, mental and

" spiritual well-being is to a great extent dependent on
the access of the citizen to a heaithy environment.

Citizens of developing countries continue to be
vulnerable to & double burden of diseases. Traditional
diseases such as malaria-and. cholera, caused by

unsafe drinking water and lack of environmental |
hygiene, have not yet been controlled. In addifion, |
_wkmwwwﬂnimh.mwm_

as cancer and AIDS, snd stress-related disorders,

Many of, thewmmdaﬂmenumﬂwm-

developing countries are g
Moving towards sustainable

M
tremendous’ challenges. Weohmﬁ:ramﬁnmm :
to survive,’ mnﬂwmwmwm{-
vice-versa, In Gandhiag thought and action, humanity |

has all the tools it.needs for sustainable development.
This model aims for all round development of the
villages thus helping in containing the large-scale
migration to the sities. Gandhi stood for better life
based on limited industrialisation, decentralisation
and sociel reconstruction. He advocated small scale
mdwungemmmﬂmmwmmt&iendiy
and also less resource depletive. This is relevant for

most developing nations including India. Poverty and

a ‘degraded environment are closely inter-related,
especially where people depend for their livelihoods
primarily on the natural resource base of their

 immediate environment. Restoring natiral systems

- and improving natural resource management practices
at, thegrassrootslevclmcmn'almastrmgyto

©
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ehmmate poverty. The survival needs of the po
force them to continue to degrade an already degrac..

‘environment. Removal of poverty is therclor

prerequisite for the protection of the environm

" Literacy and a basic education are essential °

151.

12

enabling the poor to access the benefits offercd -
development initiatives and market opportuisiti-
Basic education is thercfore a precondition !
sustainable development, With increasing purchi:
power, wasteful consumption linked to market dri
consumerism is stressing the resourcey base
developing countries further: It is-imporiun:
counter this through education and public awarci.
Technologies  exist through, ‘which substort.
reduction in consumption of tesources is possi:
Efforts to identify, evaluate, introduce and usc i
technologies must bé made. Scientists huv:
responsibility of communicating the risks and rew:: -
of a new technology to society ‘at large. Scv
advancement$. in’ environment-friendly technolo
will help in achieving sustainable developu:
Globalization as it is taking place today is increas:
the divide between the rich and the poor. [t has 1 -
steered so that it serves not only commercial inte:
but also the social needs of development.

*, Global business thrives on, and therefore encourages «
.imposes high levels of homogeneity in consii

preferences. On the other hand, for development &
locally appropriate and sustainable, it must be guudc:!

local considerations, which lie in cultural diversity -

traditions. Most developing countries are repositoric:
rich tradition of natural resource-based health care. 11
under threat, on the one hand from modern mainsti:
medicine, and on.the other from the degradation o'
naturak resource base. There is need for greater i

 participation. The local institutions must be invohvc:

developing, promoting, and implementing policics «
levels. It is good governance that will serve as a driv
force for sustainable development.  Sustii-
development is about the future and we can only thii
the future when our present is not in crisis. .

What is the basic prerequisite for sustair
development as highlighted by the author ?

(1) Ensuring that the less fortunate have all provi: -

at the expense of the rich.

(2) Improving education and the standard of livii:
the poor.

(3) Overdependence on natural resources.

(4) Meeting the needs of the present at the cosi @

future.
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(5) Ensuring that the present generation has the best | 157. What is the ‘double burden of diseases’ that the author

quality of economic development.

What are the problems faced in developing countries |
that act as a hindrance for sustainable development ? |-

(A) Increased industrialisation.

(B) Environment abuse and overdependence on
exhaustible sources of energy.

(C) Emergence of concrete jungles.

(1) Only (A) (2) Only (B) and (A)

(3) Only (C) (4) Only (B)

(5) All (A), (B) and (C)

. What does sustainable development imply according

to the author ?

(A) The ability to meet one’s own needs at the cost of
the future.

(B) The ability to cater to both, the needs of the
present as well as of the future.

(C) Providing for the poor at the cost of the rich.

(1) Only (A) (2) Only (B)
(3) Only (€) (4) Only (A) and (C)
(5) All (A), (B) and (C)

What connection has the author made between
poverty and the environment ?

(A) Eliminating poverty will help ease the pressure on

an already degraded environment.

(B) The poor are dependent on their immediate
environment for their survival and livelihood.

(C) The poor are given access to technelogical
benefits that will go a long way-in harming the
environment;

(1) Only (A)and (C)  (2)©Only(B)and (C) -
(3) Only (C) (4) Only (A) and (B)
(5) All (A), (B) and (C) :

What does the author mean When he says that concrete
jungles are taking the place of forests ?

(1) People are cutting down trees in order to build |

more arid more buildings.
(2) Forests are‘as old as concrete buildings.

(3) Forest land is largely:being inhabited by the rural |

poor.
(4) People prefer living in forests
{§) None of these

. According to the author, the health of every human

being is contingent on

(1) The natural resource-based health care. -

(2) The environment surrounding the individual.
(3) The occupation of the individual,

(4) The education and awareness imparted on health

care.
(5) None of these.

13
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(1) Only (A)

(1) Only (A)

refers to in the passage 7

(1) The incidence of traditional diseases as well as the
newly developed diseases caused due to the
modem changes in the standard of living.

(2) The dominance of modern diseases over the
traditional diseases. .

(3) The diseases attributable only to modemn
standards of living

(4) The overpowering of modern diseases over the
milder traditional ones.

(5) The greater control of traditional diseases over
modern ones.

What is the Gandhian approach towards sustainability ?

(A)Over reliance on industrialisation.

(B)Overall development of villages in order to

prevent overpopulation in cities.
(C) Inception of grassroot development of local small
scale industries that use environmental friendly
- sources of energy

_ (2) Only (B)
(3) Only (C) (4) Only (B) and (C)
(5) All (A), (B) and (C)
Which of the following is/are the effects of

Globalisation ?

(A) An increased divide between the rich and the

poor.

(B) Globalisation has led to commercialised and
homogenised products.

(C) Caters to the local needs of society

(2) Only (B)

(3)Only(C) (4) Only (A) and (B)

(5) Only (A) and (C)

What are the threats identified by the author to the

natural health care system as given in the passage ?

(1) Increased dependence on modern mainstream
medicine and degradation of the environment.

(2) The developing. countr’ies lack the knowledge for
natural resource-based medicines.

(3) Most people are influenced by modern medicine
as it is known for providing quick relief.

(4) Most people have lost faith in natural medicine.

(5) Modern - medicine along with technological
advancements has become cheaper.

Directions (161-163): Choose the word/group of words

- Which.is most similar in meaning to the word/group of

161.

words printed in bold as used in the passage.

Indigenous

(1) Foreign . (2) Similar
(3) Urgent (4) Global
(5) Local

| o

L)
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169.
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Acute

(1) Severe (2) Secluded
(3) Delicate (4) Visible
(5) Felt

Threat

(1) Observation (2) Danger
(3) Scrutiny _(4) Warning
(5) Possession

Directions (164-165): Chaose the word/group of words
which is most oppesite in meaning to the word/group of
words printed in bold as used in the passage.

Diminish

(1) Degrade (2) Reduce
(3) Fixed (4) Alternate
(5) Increase

Broadest :

(1) Tiniest (2) Narrowest
(3) Least (4) Spacious
(5) Widest

Directions (166-175): Read each sentence lo find out
whether there is any grammatical ervor in it. The
error if any, will be in one part of the sentence. The
number of that part is the answer. If there is no error,
the answer is (5) ie., ‘No error'(Ignore error of
punctuation, if any) _

It is often said that (1)/ change only happens (2)/ when
there are being (3)/ a crisis(4). No Error(5)

Concerns are being raised (1)/ over the Government’s
plans (2)/ to relocating Cheetahs (3}:’ to. lndu(4) No |
Error(5)

The rural poor (1)/ can neither nngmte to (2)/ the
urban areas or afford (3)/ the very high fee charged by
the corporate and private schools(4). No Error(S)
Bangalore youth are for protest (1)/ against the
decision to grant (2)/ & free plot of land (3)/ to each
member of thé winning team(4). No Error(5)

India is orie (1)/of the largest producers of food in the
world, (2)/ yet nearly 300 million people struggle (3)/
fo have two square meals a day (4). No Error(5)

The main problem concerning farming (1)/ is that the
income earned by farmers (2)/is not adequate to
(3)/meet their consumption needs(4). No Error(5)
The cost of food items (1)/ is increasing so rapid, (2)/
making it unaffordable (3)/ to a majority of the people
(4). No error(5)

The city’s excellent law and order development, (1) and
its sophisticated ability (2)/ to fight on crime, (3)/ make it
a preferred destination of choice(4). No Emor(5)

SREE MEDIA
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174, The Indian economy has witnessed (1)/ a resili

%

growth rate (2)/ in gross domestic product of aro
(3)/ 8 per cent off the last three years(4). No Frre:
When you look down at the earth from above,
what you see is (2)/a beautiful round thing tha -
craters, mountains (3)/ and streams of water(4}.
Error(5)

Directions (176-180): In each of the follow:
sentences, an idiomatic expression or a proyerh
highlighted. Select the alternative which
describes its use in the sentence.

175.

176. The rebels laid down their weapons’

(1) gave away (2) surrendered

(3) sold (4) stumbled upon

(5) carried away

The opposite team gave the referee a cold shouldo:
(1) deliberately ignored the referee

(2) fought withthe referee.

(3) made friends with the referee

(4) tipped off the referee

(5) prétended to be in favour of the referee

177,

178. " Just before Mona could leave the country, she u:
her friend to ‘make hay while the sun shines.
o (1) visit her when the weather lmpmvcd
(2) dry the grass while it was sunny.
(3) take advantage of favourable circumstances. wi:
it lasts.
(4) be happy at all times.

(5) not worry about her.

179. The performance put up by the students was not uj:

the mark.

(1) did not meet the expected standard

(2) did not start on time

(3) was better than expected

(4) did not get a good applause

(5) ended abruptly

The cost of living has increased so much tha

friend finds it difficult to make both ends meet

(1) to ask for help

(2) to live within her income

(3) to travel to work

(4) to understand the rise in prices

. (5) to secure a decent job
Directions (181-185): Each question below ha:
blanks, each blank indicating that something has !
omitted.
Choose the set of words for each blank which bes
the meaning of the sentence/s as a whele.

180.

14
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. In this globalised

5. By the

¢

_ three-quarters of a century after it sank, the
Titanicwas _~ _ discovered.
(1) Nearly, finally (2) Barely, just
(3) Although, safely (4) Since, fully
(5} With, surely
when many rich and fortunate

urban children ar—l!J_t:commg ___technologically

savvy, their rural counter parts do not know much |

even the computers.

(1) age, off (2) era, about

(3) world, with (4) time, regarding

(5) society, featuring

Progressive educators are with helping children

become not only good learners
(1) worried, yet

(3) concerned, but
(5) suggesting, rather
After _ most of the day in school, children are
typically given additional assignments to be______ at
home. '

also good people.
(2) about, save
(4) anxious, however

(1) putting, done (2) staying, all

(3) spending, completed (4) having, reviews

(5) being, required

__of the century, it was, apparenttoal],that

the long glorious reign of the queen was____toa'close.

(1) last, ending (2) end, said

(3) twist, coming (4) turn, drawing

(5) close, portrayed

Directions (186-190): Rearrange the following seven

sentences (4), (B), (C), (D), (€} (F)and (G) in the

proper sequence o form a meaningful paragraph;
then answer the questionsigiven beélow them.

(A) These children afé often prevented from attending
school due.to various economic and geographic
barriers.

(B) Navigation 1s extremely difficult as the web of
tiny rgads-and alleyways that comprise the slums

of “the biggest cities in the country are often.

indcegssible to public transportation.

(€Y For children living in slums, access to education is
dependent on mobility.

{D) The schools-on-wheels travel to students during
hours that suit their lifestyle and demand for work.

(E) In order to overcome this difficulty, various NGOs
have introduced the mobile bus classrooms that are
arranged to go to the most remote slum areas.

(F) Just as the name suggests; the school is a bus or -

van still mobile converted into a fully functioning
classroom for clementary to high school-age
children. '
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(G) One such geographic barrier is the navigation

from slum areas to city schools.
Which of the following will be the FIRST sentence
after-the rearrangement ?
A @C
3)G . 4B (5)E
Which of the following will be the THIRD sentence
- after the rearrangement
(1B ' 2)A
G)E @G @)D
Which of the following will be the FIFTH sentence
after the rearrangement ?
mb @B
@A)G @A (3)E
Which of the following will'be the SIXTH sentence
after the rearrangement ?
()E )G
(3D @B  (OF
Which. of the following will be the SEVENTH
- (LAST) sentence after the rearrangement ?
(D (2)B
- @QF @G
(5)C

Directions (191-200): In the following passage; there
are blanks, each of which has been numbered. These
numbers are printed below the passage and against

- each, five words are suggested, one of which fits the

blank appropriately. Find out the most appropriate
word in each case..

The dairy industry plays an important role in the
socio-economic deyelopment of India. It is (191)
in providing cheap nutritional food to the vast
population of India and also (192) huge
employment opportunities for people in rural areas.

The dairy industry is of (193) importance to India. The
country is the world’s largest milk producer,
accounting for more than 13% of the world’s total milk
production. It is the world’s largest consumer of dairy
products, consuming almost 100% of its own milk
production. Dairy products are a major source of cheap
and nutritious food to millions of people in India and
the only acceptable source of animal protein for large
vegetarian segments of Indian population, (194)

among the landless, small and marginal farmers and
women. Dairying has been (195) as one of the
activities aimed at (196) the poverty and
unemployment especially in the rural areas. India is a
wonderland for investors looking for investment

o
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. : ity industry. The m (1) only
holds great potential for investment in india and ~ (3)much
promises: high returns to the investors The dairy (5) merely
industry has huge potential for (197) new foreign | 195, (1) said
investment as the basic raw material that is milk, is (3) regards .
available in (198). Indiahas a plentiful supply of (5) felt .
technically skilled, Isbourers. There is an casy (199)of | 196 (1) creating
technological infrastructure and moreover India has all 3) deélinjng
the key elements required for a free market system. (5) causing
India is one of the fastest (200) economies today. _1'97 (1) designing -
With the government encouraging foreign Investments | ) ttmiti 8
in India, it has become easier for fnrclgn eompames to ) :macn_r:lg _
foray into the Indian Markets. : ackng
(1) key Q) mstrumental— 198. (1) lots

(3) worthy (4) best (3) request

(5) essential (5) abundance
(3) giving (4) making (3) flow

(5) associating Tl T (5_) mark !
(1) eritical () biggest 200..(1) R
(3) just (4) necessary (G)efowh

(5) justified | | (5)gmerging

)

SIREE MEDIA
COMMUNICATIONS

(2) special
(4) particularly

(2) considered
(4) deliberate

(2) hampering
(4) alleviating

(2) framing
(4) finding

(9ffutuse
(4) consumption

(2) access
(4) availability

(2) dairy
(4) made
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1 (3) ASNC => CANS, SCAN | 11. (5) Statement: A>Z<Y;B<Z>P
2.3 GROUND ; .:>:A>z2Bﬂ.ﬂd Y>7>P
123456 Stk FT
After arrangement, new word is b - (l)A;B & )Y>P
14 ' UNDGRO b Both aretrue.
265 = l | ‘12, (2) Statement
RIPEY ] U—-o0 _ M<N=0xC; X202D
» knore than four . Alle = X20>M & X202C
. . . (1) X 2 M (False)
Al m : 2] L
A e ) : (2) C$X(True)
m ; )
-y o 13. (4) Statement:R>S<T; P>§; T<Z
: N ' ;
| | | = Also R>S<T&Z, R>S<P
am. m W E | R>8;P>5
‘ : (1) Z<S(False)
_ ' ! (2) R P(False)
Fé D‘:""—“HF_—*_‘ | 14, (1) Statement:D>E=12J>K
" . ()I<D(True) -
5.7 . :
-7 _ 2) I =D(False
5.(h EC In the arrangement ) (Faisa)

QK & SG & MN : 15. (5) Statement : PSQ<A T>Q>V
~14+41 -1+ 27 Qe AlsoPSQ<T&A>Q2V

F oI CR = (l)PqT(_pr)
1
& (5) B—>E—>H—;F—~>M—~>T~+A—>N—>L-—>[{ (2} A >V (Felse)
Lr_l_tl{if—tt‘it'—ll'wif—lfd E N
7.0 FIND MUDS o 2l UST 160 Li————++-R
A=1-1-1-1-1-1-1=> =1 =1~1-1 '  VQSXWTRP S5
MKLJ EOJLC TOCA T16(3) 17(2) 18(1) 19(5) 20(2)
8. (2) C>A>D>E Bis fiot tallest. 21-25. give more time instead =ho ga ya ta

. : . instead of more appeal = Ju ho li ya
C> B>A>D>ETwopeqplearetallerthanA. al 1o high court=s Zo fe ju ba

B is 2nd tallest . more time to decide => dobaho ta
9. (4 RUSHED Codes: Give-ga

" instead-ya | to-ba high or court
In aphabetical order : - ' MW“O of-li _ decide-dof o
DEHRSU _ time-ta - | Appeal-ju
Acc, to condition — Vowel Replaced by previous | 26-32. B CF o
letter as in EA consonant —— next —- . o : {
D EHR SU '
1 -1 +1 41 +1 -1

. A 4G
The new arrangement is g
EDTSTT : :
3rd from right is S " , . ol

A E

16. 3) CERTAIN
t .t
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33-37. 40. (4) So, Both statements [ & II are not sufficient
47 R : answer the question.
36 ? i‘W:_I S, S St.1 8t.11
2nd from left anfwmnght (e
+3{ followedby followed by next code
- next code . - ', [
W &S |
5th from left 5t from right ' i -
+54 followed by feilmbddbynextcode A maybe fomale - ‘
next code S or mate
%wQ 4F I+
8th from left 8ﬂ1fromngh Husband Wife
followed by f(‘.\ﬂowedhynext code o
nextcode - . ;
38-40.(3)
38.03) (M) M&M g
- Qsits immediate ? i
© rightof T. B) :
Lo TmE g Can not be determined
. Q. 61-65. |
v J e N e NS
: 2 oxd X xI Kl 7=515
: 2 2 2 2 2
B23y3 4 10 B 1B6 7
H._J\-.-w.—-' st e '?-_: Fi}, &8
SOsD4] w2l =(BAN3 =(3dpd = (136565
At 63 ()7, 8 152 201 7 262
vy QSR BUHERGESS A —— 5 4
TOR  r@EF +OR (6P (P "
L D gy w555 -1
T +2 _ +2 +2 +2 +2
| 65.(5) 95 103 96 104 7 105
i . e S st . ——
s " +8 =7 +8 -7 +g  7=97
_ 66. (1) Area of circular floor
) =’ =9.8x 9-8x 2_?2 =301-845q, feet
i F 2 _ Totel cost =301. 84 x 40=12073-6
8o, Bothsmwmeﬂherlorﬂalonem © PxRxT
sufﬁcxmttemwerﬂxeqmﬂm e 67. (4) SI= 100
39. (5) St. 1 it 82 _ N L SIx 100
L RL R , =>P=
S T TR T O T SN (AR W WA RxT
R s NS A e B = : 13050x 100
ABDCA  DCAB P= =15000
D' C A 14.5%.6
So,Bothsmmnml&Htogethermﬂmssafyta 6. () DiStamg-_——Stl.’eedﬁ
. : . me

_ answertoqueahon ‘ v

SREE MEDIA

COMMUNICATIONS

18



SREE MEDIA
COMMUNICATIONS
Speed of train = 20 +——(;; ) = ! 5 oy °fdmwmg
960 18 (2 Red and One grecn) 8 oL
=l x-=432kmh.  Ans. | 60 19
80 5. | 6. (5)1 X4y=23
69. (1) 6 Eraser + 4 Sharpner = 21Rs. | :
L X-7=Y
= 24 Eraser + 16 Sharpner = 84 Rs. Ans.

0. (4) VISUAL =6!=6x5x4x3x2x1
=720

Distance =20km,

Ans,
.(2)
In'Upstream, time = 5 hrs.
Speed Upstream = (u — v)=4km/h.
' u-v=4 (1)

u = speed of boat in still water

v = speed of stream. _ !
Speed downsteam (Time = 4 hrs) ‘
Skm/h
(1)+(2) = 2u=9 or u=45
speed of boat=4.5km/h.
72, (5) Area of square =a’ cm’

(u+v)=

Perimir of square =4a = 88cm ‘

=a=22cm

Area=484 cm’
S5.P.=124%0f CP

20460 x 100
124

=16500
Seema : Amala : Ruthi o |
70 10004 '
Sumof Ages =42 ‘

w CP=

4. (5)

RughPAges x 22 =8yrs.

T+4+10
Total no. of balls =2R + 3G =5

No. of ways to draw 3 balls out of 5 is

5C, = §XM_'
: 2!

TSELE)

=60
No. of ways drawing (2 Red out of 2) _
and (1 Green out of 3) = *C, x *C,
=2x3=6

19

71.3) L

X\

7. 2) It

T&I =X=15,Y=8
Both togaher are necessary tu answer the

question,
[S”‘“J

_13___P_x 2xR
' 100

100
= R=25% N
2204000,
©.3040x3
N R 25%
SWI or Staleﬁxent 1T alone are sufficient to
mwer the question

A B=1:2
Tmetakenw:llbe
LU AsBe sl
. 36hs.
Statement I alone is sufficient to answer the
question. :

= Kirti Age =18yrs.
= Moushmi Age =9yrs.
Nk (half of kirti Age)
80. (5) Let,length of Rectangle = |
breadth | =b
Statement I
:>i=§=>l=—b
b R
‘Statement 11 .
:Aroaofmrcle 20fAreaofRectangle
270=2(1x b)

o (bx%‘?) 1352 b=9mtr. & 1= 15 mr

Perimtr =2 (9+15)= 48 mtr,

. Statment I & II both together are necessary to
answer the quest:on
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